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Work & Wages

1. The income of A, B, and C together in one day
isRs. 1275 to do a piece of work. Efficiency of
A and B is 17:21 respectively. If A earns more
than C which is the same as B earns more than
A, then, find the amount of money earned by
A and C together in 7 days to do the same
piece of work.

,d fnu eas A, B vkSj C dh ,d lkFk ,d dke djus ds
fy, vk; 1275 :i;s gSA A vkSj B dh n{krk Øe'k% 17 %
21 gSA ;fn A, C ls vf/d dekrk gS tks fd B ds leku
A ls vf/d dekrk gSA rks leku dk;Z dks djus ds fy, A
vkSj C }kjk ,d lkFk 7 fnuksa esa vftZr dh xbZ jkf'k Kkr
dhft,A
(a) Rs 5020 (b) Rs 3582
(c) Rs 2948 (d) Rs 5250

2. Three friends P, Q and R started work. P alone
can finish a work in ‘a' days and Q alone can
finish work in ‘a + 15’ days and R alone can
finish work in ‘a + 30’ days. Three friends started
work after ‘b' days P left the job and after ‘b + 5’
days Q also left the job and the remaining work
will be finished by R in the next b +10 days. Work
done by P in 4 days is equal to work done by Q
in 6 days. If the total wages for their work is Rs
5400 and they are paid according to their work
then find the share of Q?

rhu nksLr P, Q vkSj R us dke 'kq: fd;kA P vdsyk ,d
dke dks 'a' fnuksa esa iwjk dj ldrk gS vkSj Q vdsyk 'a +

15' fnuksa esa dke [kRe dj ldrk gS vkSj R vdsyk 'a +

30' fnuksa esa dke [kRe dj ldrk gSA rhu nksLrksa us 'b'

fnuksa ds ckn dke 'kq: fd;k] p us ukSdjh NksM+ nh vkSj 'b
+ 5' fnuksa ds ckn Q us Hkh ukSdjh NksM+ nh vkSj 'ks"k dke
vxys b + 10 fnuksa esa R }kjk iwjk fd;k tk,xkA P }kjk 4
fnuksa esa fd;k x;k dk;Z Q }kjk 6 fnuksa esa fd, x, dk;Z
ds cjkcj gSA ;fn muds dke dh dqy etnwjh 5400 :i;s
gS vksj mUgsa muds dke ds vuqlkj Hkqxrku fd;k tkrk gS rks
Q dk fgLlk Kkr dhft,\
(a) Rs 2000 (b) Rs 2400
(c) Rs 1500 (d) 1800

3. P, Q and R can do a piece of work in 16 days,
24 days and 12 days respectively. They worked
together for 2 days, and then P left the work.
After that, Q and R worked for 1 day and then
Q left the work. And the remaining work was
done by R. If they got Rs.3420 for the whole
work, then find the share of R.

Work & Wages @dk;Z vkSj etnwjh
(Practice Sheet With Solution)

P, Q vkSj R ,d dk;Z dks Øe'k% 16 fnu] 24 fnu vkSj
12 fnu esa iwjk dj ldrs gSaA mUgksaus 2 fnuksa rd ,d lkFk
dk;Z fd;k] vkSj fiQj P us dk;Z NksM+ fn;kA mlds ckn] Q
vkSj R us 1 fnu dk;Z fd;k vkSj fiQj Q us dk;Z NksM+
fn;kA vkSj 'ks"k dk;Z R }kjk fd;k x;kA ;fn mUgsa iwjs dk;Z
ds fy, 3420 :i;s feys] rks R dk fgLlk Kkr dhft,A
(a) Rs 2565 (b) Rs 2385

(c) Rs 2370 (d) Rs 2470

4. If M had worked alone, he would have taken

32 hours to do the task. What is M’s share, if

M and N worked together on a task and

finished it in 18 hours and they get paid of

Rs.2976 for it?

;fn vdsyk M dk;Z djrk] rks mls dk;Z djus esa 32 ?kaVs
yxrs gSaA M dk fgLlk D;k gS] ;fn ,d lkFk M vkSj N

,d dk;Z ij dke djrs gSa vkSj bls 18 ?kaVs esa iwjk djrs gSa
vkSj mUgsa blds fy, 2976 :i;s dk Hkqxrku feyrk gS\
(a) Rs 1590 (b) Rs 1654

(c) Rs 1689 (d) Rs 1674

5. 46 women earned Rs 172500 by working 25

days. How many men must work for 24 days

to receive Rs 230400 provided the daily wages

of a man is twice that of a woman?

46 efgykvksa us 25 fnu dke djds 172500 #i;s dek,A
230400 #i;s çkIr djus ds fy, fdrus iq#"kksa dks 24 fnuksa
rd dke djuk gksxk] c'krZs ,d iq#"k dh nSfud etnwjh
,d efgyk dh rqyuk esa nksxquh gks\
(a) 30 men (b) 32 men

(c) 28 men (d) 34 men

6. A alone complete the work in 24 days and B

alone complete the work in 40 days and A, B

and C together can complete the work in 10

days. If they earned the total wages Rs 1680,

what is the share of C?

A vdsys dke dks 24 fnuksa esa iwjk djrk gS vkSj B vdsys
dke dks 40 fnuksa esa iwjk djrk gS vkSj A] B vkSj C feydj
dke dks 10 fnuksa esa iwjk dj ldrs gSaA ;fn mUgksaus dqy
etnwjh 1680 #i;s vftZr dh] rks C dk fgLlk D;k gS\
(a) Rs 520 (b) Rs 560

(c) Rs 600 (d) Rs 480
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Work & Wages

7. A alone completes the work in 30 days and B

alone completes the work in 20 days. A and B

gets the wages of Rs 6000. With the help of C

they finish the work in 10 days. How much

money will C be paid?

A vdsys dke dks 30 fnuksa esa iwjk djrk gS vkSj B vdsys
dke dks 20 fnuksa esa iwjk djrk gSA A vkSj B dks 6000
#i;s dh etnwjh feyrh gSA C dh enn ls os 10 fnuksa esa
dke iwjk djrs gSaA C dks fdruk iSlk fn;k tk,xk\
(a) Rs 800 (b) Rs 1000

(c) Rs 1200 (d) Rs 600

8. A alone completes the work in 30 days and the

efficiency of A is 300% more than the

efficiency of B. If A, B and C together can

complete the work in 16 days and they are get

the total wages of Rs 27000, then what is the

wages of C?

A vdsys dke dks 30 fnuksa esa iwjk djrk gS vkSj A dh
n{krk B dh n{krk ls 300» vf/d gSA ;fn A] B vkSj C
feydj dke dks 16 fnuksa esa iwjk dj ldrs gSa vkSj mUgsa
dqy etnwjh 27000 #i;s feyrh gS] rks D;k C dk osru
D;k gS\
(a) Rs 9000 (b) Rs 12000

(c) Rs 10000 (d) Rs 6000

9. A can complete 60% of the work in 9 days and

A and B together can complete half of the work

in 4.5 days. If A, B and C together can

complete 40% of the work in 3 days and they

are gets the total wages is 1200, then what is

the wage of B?

A 60» dke 9 fnuksa esa iwjk dj ldrk gS vkSj A vkSj B

feydj dke dk vk/k fgLlk 4-5 fnuksa esa iwjk dj ldrs
gSaA ;fn A] B vkSj C feydj 3 fnuksa esa 40» dke iwjk
dj ldrs gSa vkSj mUgsa dqy etnwjh 1200 feyrh gS] rks B
dh etnwjh D;k gS\
(a) Rs 200 (b) Rs 360

(c) Rs 280 (d) Rs 400

10. A can complete a piece of work in 18 days , B

is 25% less efficient than A. B started the work

and worked for 6 days and left and remaining

part of the work is completed by A. What is the

share of B if the total wages is Rs.3000?

A ,d dke dks 18 fnuksa esa iwjk dj ldrk gS] B] A ls
25» de dq'ky gSA B us dke 'kq: fd;k vkSj 6 fnuksa rd
dke fd;k vkSj NksM+ fn;k vkSj dke dk 'ks"k Hkkx A }kjk
iwjk fd;k x;kA B dk fgLlk D;k gS ;fn dqy etnwjh 3000
#i;s gS\
(a) Rs 2250 (b) Rs 750

(c) Rs 600 (d) Rs 2400

11. A can do the piece of work in 15 days and the
ratio of the efficiency of A and B is 4 : 1. A, B
and C together can complete the half of the
work in 4 days. If they are gets the total wages
is 5400, then what is the wage of C?

A ,d dke dks 15 fnuksa esa iwjk dj ldrk gS vkSj A vkSj
B dh n{krk dk vuqikr 4%1 gSA A] B vkSj C feydj
dke dk vk/k fgLlk 4 fnuksa esa iwjk dj ldrs gSaA ;fn
mudk dqy osru 5400 gS] rks C dk osru D;k gS\
(a) Rs 1200 (b) Rs 1500

(c) Rs 1800 (d) Rs 2000

12. A, B and C can complete the work in 16 days,
20 days and 24 days respectively. The total
wage is Rs 1850. If they work together to
complete the work, what is A’s wage?

A] B vkSj C Øe'k% 16 fnu] 20 fnu vkSj 24 fnu esa
dke iwjk dj ldrs gSaA dqy etnwjh 1850 #i;s gSA ;fn os
dke iwjk djus ds fy, ,d lkFk dke djrs gSa] rks A dh
etnwjh D;k gS\
(a) Rs 500 (b) Rs 750

(c) Rs 650 (d) Rs 850

13. A alone can finish a job in 12 days and B alone
can do It in 20 days. If they work together and
finish it, then the share of A in total wages of
Rs100 is.

A vdsys ,d dke dks 12 fnuksa esa iwjk dj ldrk gS vkSj
B vdsyk mlh dke dks 20 fnuksa esa dj ldrk gSA ;fn os
,d lkFk dk;Z djrs gSa vkSj mls iwjk djrs gSa] rks dqy
etnwjh 100 :i;s esa ls A dk fgLlk gSA
(a) Rs.56.25 (b) Rs.67.50

(c) Rs.62.50 (d) Rs.50

14. If A can do 
1

4
 of a work in 3 days and B can

do 
1

6
 of the same work in 4 days, how much

will A get if both work together and are paid
Rs 180 in all?

;fn A fdlh dk;Z dk 
1

4
 Hkkx 3 fnuksa esa dj ldrk gS

vkSj B mlh dk;Z dk 
1

6
 Hkkx 4 fnuksa esa dj ldrk gS] rks

A dks fdruk çkIr gksxk ;fn nksuksa ,d lkFk dk;Z djrs gSa
vkSj mUgsa dqy 180 #i;s dk Hkqxrku fd;k tkrk gS\
(a) Rs. 60 (b) Rs. 120

(c) Rs. 90 (d) Rs. 180

15. Amit , Ajay and sachin  take up a task to finish
for Rs 876. Amit completes his assignment in
4 days, ajay does it in 8 days and Sachin takes
12 days to finish it. They complete the work
with the help of there mother Nirupama in 2
days. What does Nirupama get?
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vfer] vt; vkSj lfpu  876 #i;s esa ,d dk;Z iwjk djus
ds fy, gkFk esa ysrs gSaA vfer viuk dk;Z 4 fnuksa esa iwjk
djrk gS] vt; bls 8 fnuksa esa iwjk djrk gS vkSj lfpu bls
iwjk djus esa 12 fnu ysrk gSA os  viuh eka fu#iek dh
enn ls 2 fnuksa esa dke iwjk djrs gSaA fu#iek dks D;k
feyrk gS\
(a) Rs. 307 (b) Rs. 73

(c) Rs. 75 (d) Rs. 267

16. A and B undertake a project worth Rs. 54000.
A alone can do the work in 10 days. They work
together for 3 days. After 3 days, B works alone
for 3 days and A completes the remaining work
in 3 more days. What is the share of B in the
earnings? 

A vkSj B 54000 #i;s dh ,d ifj;kstuk 'kq: djrs gSaA  A
vdsyk ml dke dks 10 fnuksa esa dj ldrk gSA os 3 fnuksa
rd ,d lkFk dke djrs gSaA 3 fnuksa ds ckn] B vdsys 3
fnuksa ds fy, dk;Z djrk gS vkSj A 'ks"k dk;Z dks 3 vkSj
fnuksa esa iwjk djrk gSA vk; esa B dk fgLlk fdruk gS\
(a) Rs. 21600 (b) Rs. 33400

(c) Rs. 27800 (d) Rs. 35780

17. A company assigned a job to three employees
P, Q and R for Rs 529. P and Q together do

19

23
 part of the work and Q and R together do

8

23
 part of the work. Then find what amount

should be paid to P?

,d daiuh }kjk P] Q vkSj R rhu deZpkfj;ksa dks 529
#i;s ds fy, ,d dke lkSaik x;k P vkSj Q feydj dke

dk 
19

23
 vkSj Q vkSj R feydj dke dk 

8

23
 Hkkx iqjk

djrs  gSA rc Kkr dhft, P dks fdruh jkf'k dk Hkqxrku
fd;k tkuk pkfg,\
(a) Rs. 315 (b) Rs. 345

(c) Rs. 355 (d) Rs. 375

18. If a man earns Rs 2000 for his first 50 hours
of work in a week and is then paid one and half
times his regular hourly rate, then hours he
must work to make Rs 2300 in a week is.

;fn ,d vkneh ,d lIrkg esa vius igys 50 ?kaVksa ds dke
ds fy, 2000 #i;s dekrk gS vkSj mlds ckn fu;fer ?kaVs
dh nj ls Ms<+ xquk Hkqxrku fd;k tkrk gS] rks ,d lIrkg esa
2300 #i;s dekus ds fy, fdrus ?kaVs dke djuk gksxkA
(a) 6 hours (b) 4 hours

(c) 5 hours (d) 7 hours

19. A, B and C can complete a piece of work
separately in 10, 20 and 40 days, respectively.
In how many days will the work be completed
if A is assisted by both B and C every third
day?

A, B vkSj C ,d dk;Z dks vyx&vyx Øe'k% 10, 20

vkSj 40 fnu esa iwjk dj ldrs gSaA ;fn A dks izR;sd
rhljs fnu B vkSj C nksuks a }kjk lgk;rk iznku dh tk,
rks dk;Z fdrus fnu esa iwjk gksxk\

SSC CGL 01/12/2022 (Shift- 02)

(a)
2

8
7

(b) 9

(c)
2

10
3

(d) 6

20. 5 men and 8 women can complete a work in

12 days working together, while 3 men and

7 women together can complete the same work

in 15 days. In how many days will 11 women

complete the same work?

5 iq#"k vkSj 8 efgyk,¡ ,d lkFk dke djrs gq, ,d
dke dks 12 fnu esa iwjk dj ldrs gSa] tcfd 3 iq#"k
vkSj 7 efgyk,a feydj mlh dke dks 15 fnu esa iwjk
dj ldrs gSaA 11 efgyk,¡ mlh dke dks fdrus fnu esa
iwjk djsaxh\

SSC CGL 03/12/2022 (Shift- 03)

(a) 12 (b) 8

(c) 6 (d) 16

1.(d) 2.(d) 3.(a) 4.(d) 5.(b) 6.(b) 7.(b) 8.(a) 9.(d) 10.(b)

11.(c) 12.(b) 13.(c) 14.(b) 15.(b) 16.(a) 17.(b) 18.(b) 19.(c) 20.(a)

Answer Key
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Work & Wages

SOLUTIONS
1. (d)

A – C = B – A

2A = B + C

Given that

A + B + C = 1275

3A = 1275

A = 425

then

Efficiency ratio  

25

A : B : C

17 : 21 : 13

425 525 325

   

Money recieved by A & C

In 7 days = 30 × 7 × 25

Rs 5250

2. (d)

A.T.Q.

b b 5 b 10
1

a a 15 a 30

 
  

 

Given that,


4 6

a a 15




2a + 30 = 3a

a = 30

Then,

b b 5 b 10
1

30 45 60

 
  

 6b + 4b + 20 + 3b + 30 = 180

13b = 130

b = 10

then,

P's work = 
10 1

30 3


Q's work = 
15 1

45 3


R's work = 
20 1

60 3


then,

Share of Q  
1

5400
3

  = Rs. 1800

3. (a)

48

3

16 24

4

12
P RQ

2

Day Work

P + Q + R  2 9 × 2 = 18

 Q + R  1 6

R  6 24

24
4

Share of R  8 + 4 + 24 = 36


36

3420
48




3

4
 × 3420 = 3 × 855 = 2565

4. (d)

32 × 9

9

32

16

18
M M + N

then

Share of M

  
9 18

2976
32 9






  
9

16
 × 2976

 9 × 186 = 1674
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5. (b)

According to question

46 25 24 2

172500 230400

  


x


64

2
= 32

 Required men = 32

6. (b)

120

5

24

12

10
A A + B + C

40
B

3

Efficiency of C = 12 – 8 = 4

then

C' s share = 
40

120
 × 1680 = 560

7. (b)

60

2

30

6

1020

3

C's efficiency  = 6 – 5 = 1

Share of C = 10 × 1 = 
10

60
× 6000 = 1000

8. (a)

240

8

30

15

16

A A + B + C

B's efficiency = 
1

8
4

 = 2

efficiency of C = 5

Share of C = 
80

27000
240

 = 9000

9. (d)

A can complete the whole work

= 
3

5
 9

5

5
 = 15 days

A & B together can complete the whole work

= 4.5 × 2 = 9 days

A, B & C together can complete the whole work

= 
15

2
days

then,

45

3

15

6

9

5

15
2A A+B

A+B+C

A's efficiency = 3

B's efficiency = 2

C's efficiency = 1

Share of B = 
2

1200
6
 = 400

10. (b)

Efficiency ratio = A : B

4 : 3

Total work = 4 × 18 = 72 unit

work done by  B in 6 days = 6 × 3 = 18 unit

Share of B = 
18

72
 × 3000

= Rs 750

11. (c)

Efficiency ratio = A : B

4 :1

Total work = 4 × 15 = 60 unit

Efficiency of A, B and  C together = 
30

4
= 7.5
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then,
C's efficiency = 7.5 – 5 = 2.5
work which is done by C = 2.5 × 8 = 20

Share of  C = 
20

60
 × 5400 = 1800

12. (b)

16 × 5 × 3

15

16

10

20

12

24

A B C

A's Share

15

37
× 1850 = 750.

13. (c)

A  12 Days

B  20 Days 3
60

5

If A & B together can complete the whole work
then, the wages distribute on the bases of their
efficiency
then,
Share of A

5
100

8
 = Rs 62.50

14. (b)

A  
1  

3 days = 12 Days 

B  4 days  = 24 Days   1
24

24

1  
6

If A & B together can complete the whole work
then, the wages distribute on the bases of their
efficiency
3 unit  180
1 unit  60
Share of A = 60 × 2
= 120`

15. (b)

they can do the whole work with the help of
their mother In   2 days.
then efficiency of all with mother
= (12 – 11)  1 unit/day.
then

Share of mother = 
1 2

24


× 876 = Rs. 73

16. (a)
A  10 Days

Work done by A = 
6

10
 = 

3

5
 unit

Work done by B = 
2

5
Ratio of efficiency = 3 : 2
5  54000
1  10800
Share of B = 2 × 10800 = 21600`

17. (b)

ATQ 
R 4

P Q 19




P 15

Q R 8




eff.  
P Q R

: :
15 4 4

23 unit  529
1 unit  23
Amount paid to P = 15 × 23 = 345`

18. (c)

Hourly rate of men = 
2000

50
= Rs. 40

No. of additional hours = 
2300 – 2000

60

= 
300

60
 = 5 hours

19. (a)

A – 10 (4)

B – 20 (2)

C – 40 (1)

40 units

(A,A, A + B + C)  Working fashion
3 days  4 + 4 + 7 = 15 units
6 days  30 units
7 days by A  34 units
8 days by A  38 units

9 days by (A + B + C)  
2

7
 38 + 2 = 40 units

Total days = 8
2

7
 days.

20. (a)
5M + 8W  12 days
3M + 7W  15 days
12(5M + 8W) = 15(3M + 7W)
20M + 32W = 15M + 35W
5M = 3W

M 3
=

W 5
 Total work = 12(15 + 40) = 660 units
 11 women can complete the whole work

 
660

11 × 5
 12 days
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